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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

76-

77-

78-

80-

81-

82-

83-

84-

86-

87-

The tour guide warned the pcople who relied on him -——-—-—-- in the park when the night
falls.

1) thcy do not 2) not to walk

3) that they not walk 4) not walking

The newly employed girl is more efficient ---———- they have ever had.

1) than any othcr sccrctary 2) any othcr sccrctary than

3) secretary than any other 4) any other than secretary

While skiing, the young boy broke his leg and ===------ to the hospital immediately.

1) would be taken  2) had to be taken  3) had taken 4) took

————————— in a short time, especially when you are a true beginner, is something almost
impossible to do.

1) A language to lcarn 2) You lcarn a language

3) Learning a language 4) A language which you learn

The electricity they --------—- is not enough to meet their country’s needs.

1) achicve 2) collcct 3) require 4) gencerate

Michael Mann, a/an -—--——-——- professor of atmospheric science, has been invited to give a
speech about the dangerous effects of global warming.

1) offered 2) donated 3) identified 4) distinguished

The man wrote a book based on the events he had recorded in a/an -——-—-- that he kept
during the war between his country Japan and China.

1) loss 2) diary 3) mission 4) imagination

Can you two just ———- your differences for now and get this done together, please?

1) put asidc 2) keep on 3) call back 4) gct away

Based on the belief that our worldview is influenced by the language we speak, it is often
concluded that language is like a pair of eyeglasses through which we “see” the world in
a/an ------—- way.

1) decorative 2) intermediate 3) particular 4) monolingual

With all his energy -----—-—-——- already, the jogger was not able to take one more step ahead
and so sat down to rest.

1) turned off 2) passed away 3) used up 4) given up

The war was very depressing but gave to the community a greater --——-—--——- of togetherness.

1) sense 2) device 3) factor 4) notice

A: “We’ve got my boss, his boss, the assistant manager, an advisor, and the head of IT all
involved in this project, and it’s turning into a complete failure!”

B: “Well, -——-——, after all!”
1) birds of a feather (ly together 2) practice makes perlect
3) two heads are better than one 4) too many cooks spoil the broth

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

[’s dillicult to say. Lots of people played a part in the development of the cinema.
A man called Muybridge (88) --—------ the first moving picture in 1878. It was a film of'a
horsc running and it was only a fcw scconds long. By 1895, other pcople (89) --------
various machines for showing moving pictures, but many ol these could only
(90) —-——-—--- by one person at a time. The development of machines that could project
films onto a scrcecn was important. Thomas Edison was onc of thc first to show very
short films to audiences of 20 or (91) --------- people. His [ilms showed acrobats and
dancers performing, or everyday (92) --------- like 2 man eating!
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88-
89-
90-
91-
92-

1) he made 2) to make 3) making 4) madc

1) were inventing  2) would invent 3) have invented 4) had invented
1) watch 2) bc watching 3) b¢c watched 4) bcen watched
1) few 2) more 3) the most 4) a few

1) events 2) customs 3) images 4) conditions

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

93-

94-

PASSAGE 1:

It is said that most people have no more than 30 friends at any given time, and 400 over
thc wholc of their lives. However, on social nctworking sitcs, most uscrs have about 150
friends. Tf these numbers are correct, then friendship means different things in different
situations.

One of the reasons people have more online friends than real friends at any particular
point in time is that online [riendships do not require much time and energy: it is easy (o
make Internet friends and keep them forever. Another possibility is that it is difficult to
say “no” when somebody asks us to be their [riend online, even il we [eel we don’t
really know them. The fact that they ask us suggests that they do consider us a friend,
which 1s a nicc fecling. Altcrnatively, thcy may be “collectors” of online friecnds and
simply want to use us to get a higher number of friends and appear to be popular.

Onlinc fricndships arc quitc casy, but in the rcal world things arc much morc difficult.
There are no rules about friendship. There are no guidelines about how to make friends,
how 1o keep [riendships going, and how to [(inish (riendships il we want to move on.
People also have very different opinions about friendship: some people would die for
their [riends and value them more than family. Others [eel that [riends are temporary,
only there to help each other until they are no longer needed. 1f people with such
different views become friends, this can Icad to problems.

It can be understood from the passage that --------- .

1) people turn to the Internet to make friends because they no longer value friendships

2) the situation in which people make friends influences the actual nature of their
friendship

3) online friendships last longer than real friendships that were a mark of past
relationships

4) the Internet has made people so close that people pay more attention to their friends
than to their family members

Which of the following best describes the function of paragraph 2 im relation to

paragraph 1?

1) Paragraph 2 explains why the claim made in paragraph 1 is true.

2) Paragraph 2 brings in some rcasons to qucstion the position taken in paragraph 1.

3) Paragraph 2 discusses the effect of the change in friendship explained in paragraph 1.

4) Paragraph 2 expands one of the reasons mentioned in paragraph 1 about why people
nowadays have more friends.
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95-

96-

97-

98-

100-

What docs paragraph 3 mainly discuss?

1) Why making fricnds onlinc is not difficult

2) People’s opinions about the role of friends in their lives

3) What makes making friendships offline in the real world harder

4) The reasons why it is necessary to change the way people make friends online
The word “this” in paragraph 3 refers to --——--—-—-- .

1) the link between people becoming weak

2) trying to find as many fricnds as possiblc

3) having different views towards friendship

4) people with different views becoming friends

PASSAGE 2:

Both men and women are living longer these days in the industrialized countries.
However, women, on the average, live longer. In general, they can expect 1o live six or
seven years more than men. The reasons for this are both biological and cultural.

One important biological flactor that helps women live longer is the dillerence in
hormones between men and women. Hormones are chemicals which are produced by the
body to control various body functions. Between the ages of about 12 and 50, women
produce hormones that are involved in fertility. These hormones also have a positive
cffcct on the heart and the blood flow. In fact, women arc lcss likely to have high blood
pressure or to die from heart attacks.

The female hormones also protect the body in another way. They help the body to
defend itself against some kinds of illnesses. This means that women generally get sick
less often and less seriously than men. The common cold is a good example: women, on
average, get fewer colds than men.

Women are also helped by their female genes. Scientists are still not exactly sure how
genes influence aging, but they believe that they do. Some think that a woman’s body
cclls age morc slowly than a man’s. Othcrs think that a man’s body cclls age morc
quickly. Recent research seems to support both of these possibilities.

What is the main purpose of the passage?

1) To explore reasons for a fact

2) To compare and contrast two dilferent [indings

3) To follow the historical line of a new development

4) To show the rolc of medical advancement i pcoplc’s lifc cxpectancy

How many biological factors does the passage mention as having an effect on women’s

living longer them men?

1) Onc 2) Two 3) Thrce 4) Four

What is the purpose of the example mentioned in paragraph 3?

1) To emphasize the role of illnesses in reducing people’s hope of living long

2) To prove that hormones can in fact help women in more than two ways

3) To support the claim made for the role of the female hormones

4) To refer to the most important illness influencing women

Which of the following statements is supported by the passage?

1) Not all men live shorter lives than women do.

2) Men used to live longer than women before the world became industrialized.

3) Scientists believe that genes are more effective than hormones to help women live long.

4) Scientists agree with one another about how genes make women age more slowly than
men.
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Teil A: Grammatik

In der vergangenen Nacht ------mv-- sic wegen des Liarms nicht schlafen.

1) muss 2) wolle 3) diirfte 4) konnte

In welchem Kasus stcht der Artikel im Ausdruck ,.ohne den Wirt*?

1) Dativ 2) Genitiv 3) Akkusativ 4) Nominativ
Der Satz ,,Allein hitte Jiirgen die Priifung nie geschafft ist ein irrealer -=-------- .
1) Wunschsaiz 2) Aussagesalz

3) Vergleichssatz 4) Konditionalsatz

Das ist unser Haus, vor --——————- Tiir du stchst.

1) dic 2) deren 3) denen 4) dessen

Im Satz ,,Das Auto ist teuer® steht das Adjektiv im =--==-=--- .

1) Elativ 2) Positiv 3) Supcrlativ 4) Komparativ
In welchem Tempus steht der Satz ,,Ich hatte Schritte kommen horen*?

1) Plusquamperfekt 2) Préteritum

3) Prasens 4) Perfekt

Wir alle machen Sport, --——---—--- fit zu bleiben.

1) um 2) ohne 3) aulcr 4) anstatt

Sic ~———-———-- , hachdem sic von ihrer Krankhcit erfuhr, lange ---—----—-— .

1) ist / geweint 2) hat / geweint

3) ist / geweinen 4) hat / geweinen

Danielle wohnt in -—-----—- Viertel der Stadt.

1) ein armer 2) einer armen 3) eines armen 4) einem armen
Wie lautet der Nominativ Plural von ,,das Kind“?

1) das Kind 2) der Kinder

3) die Kinder 4) den Kindern

Teil B: Vokabeln

Welches Wort passt nicht in die Reihe?

1) Ahorn 2) Fuchs 3) Ratte 4) 1gel

Er versuchte, als sein Kollege befordert werden sollte, ihm ein --—---—----- 7u stellen.
1) llolz 2) llaar 3) Bcin 4) Knochen
Der Mann wurde wegen ---------- zu lebenslanger Haft verurteilt.

1) Mordes 2) Fiebers 3) Geldnot 4) Schneefalls
Bei der Abstimmung bekam der Antrag nur 25 von 35 notigen --—----—-—- .

1) Urteile 2) Wahlen 3) Stimmen 4) Optionen
Er war ein paar Tage im Urlaub, nun warten im Biiro ---------- von Akten auf ihn.

1) Téler 2) Hiigel 3) Meere 4) Berge
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Teil C: Liickentext

Erganzen Sie den Text mit den richtigen Auswahlméglichkeiten!

Es 1st nicht (91) ---------- , dass es 1im Sport nur beim Boxen zu lebensgefdhrlichen
Unldllen (92) ---------- . Der 45-jahrige Edward Manus aus Krakau (93) ---------- sich
beim Schachspielen einen Bruch des Unterkiefers zu. Als er seinen Gegner besiegt hatte,
sprang cr vor (94) ---------- auf, rutschtc aus und ficl mit dem (95) ---------- auf dic
Tischkante.

1) wahr 2) notig 3) ratsam 4) schlecht

1) geht 2) lault 3) rennt 4) kommt

1) sah 2) 70g 3) legte 4) traute

1) Zorn 2) Angst 3) Freude 4) Respekt

1) Bein 2) Kinn 3) Knie 4) Riicken

Teil D: Leseverstehen

In Kdln lebte um 1900 ein bekannter Arzt. Er war wegen seiner Grobheit gefiirchtet,
abcer wegen sciner Erfolge auch belicbt. Er sagte zu allen Paticnten ,,du. Thm war cs
gleich, ob sie arm oder reich waren. Einmal besuchte ithn eine reiche Dame. Der Arzt
empling sie mit den Worten: ,,Guten Tag, Madchen, was [ehlt dir denn? Setz dich aul
den Stuhl dort!” Die Dame antwortete ganz empdrt: ,,Was fillt Thnen ein? Wissen Sie
nicht, wer ich bin? Ich bin die Frau von Professor Miiller.* Der Arzt sagte ruhig: ,,Dann
setz dich eben auf zwei Stiithle!*

Welche Eigenschaft trifft auf den Arzt zu?

1) aggressiv 2) langweilig

3) sympathisch 4) grob

Laut Text hat der Arzt immer seine Patienten ---------- .

1) geduzt 2) ausgclacht

3) geschimpit 4) zu llause besucht

Wie hat die Dame auf die IForderung, sich auf den Stuhl zu setzen, reagiert?
1) ritselhaft 2) argerlich

3) freundlich 4) gleichgiiltig

Die Dame dachte, sie héitte einen -——-—- Ehemann, dessen Frau man respektieren muss.
1) strengen 2) beriihmten

3) gewalttdtigen 4) 7zuverlassigen

Wie ist der Ton des Textes?

1) gcheimnisvoll 2) informativ

3) witzig 4) ernst
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Partie A: Grammaire
Complétez Ies phrascs suivantes en cochant la réponse correcte:

Je n'ai pas réussi ---------- entretien que j'ai passé la semaine derniére.

nr 2)d 3) un 4)de !

J'ai un petit creux, je vais prendre un gateau. -——------- j'ai faim.

1) Moi si 2) Moi non 3) Moi aussi 4) Moi non plus
-------- — se sont passés tes examens? Trés bien, j'ai répondu a toutes les questions.
1) Comment 2) Combien 3) Quand 4) Pourquot

Les exigences pour le poste sont une ---------- connaissance des outils informatiques.
1) micux 2) parfaitc 3) mcillcurc 4) cxccellente
Vous -----—-— 2 Paris il y a2 une semaine.

1) arrivez 2) arrivericz 3) Ctes arrives 4) ¢ticz arrives
Le président va répondre a ---------- question dés qu'il aura consulté son conseiller.
1) cette 2) cet 3) ces 4) ce

Dans le pays ---------- je suis né il fait toujours beau.

1) ou 2) qui 3) que 4) dont

Si le professeur avait exigé, les étudiants ---------- moins absents.

1) sont 2) scront 3) scraicnt 4) auraicnt ¢t¢
Voici les lettres que ma grand-mére m'a ------—--,

1) écrit 2) écrite 3) écrits 4) écrites

Nous sommes heureux que vous ---------- 2 notre mariage.

1) venez 2) veniez 3) viendrez 4) viendriez

Partie B: Vocabulaire
Complétez Ies phrases suivantes en cochant la réponse correcte:

Il faut de gros --=------- pour porter une armoire.

1) bras 2) musclcs 3) cstomacs 4) poumons

Les -————- — sont un vrai fléau pour les vacanciers I'été: leurs piqiires démangent fortement.
1) serpents 2) mouches 3) papillons 4) moustiques

A cause du prix ---———-- de certains produits, le gouvernement a décidé de prendre des
mesures.

1) fort 2) libre 3) solide 4) intéressant

Tous les jours, j'écoute les ---------- a la radio.

1) acquisitions 2) constatations 3) informations 4) reproductions

Les voitures ne doivent pas s'arréter sur les passages ----—-—-.

1) libres 2) occupés 3) interdits 4) piétons
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Partie C: Texte a Compléter

Tout le monde se rassembla solennellement (91) ---------- de la longue table. Le vieux
(92) -——-m - occupait une extrémité, comme qui dirait la présidence.

Adricn n'avait ricn perdu de sa hargne a I'¢gard de Z¢na. Ellc supporta un moment cc
manege; ensuite pour se venger, elle lui (93) ---------- la langue mais en prenant la
(94) ---------- de mettre sa main en écran prés de sa bouche, comme e¢lle faisait a
(95) ---------- pour souffler la réponsc a sa voisine, sans ¢tre remarqug, croyait- clle de
l'institutrice.

1) autour de 2) devant 3) pres 4) sur

Dy 2)le 3)cn 4) lui

1) tira 2) sortit 3) montra 4) bougea

1) prétexte 2) disposition 3) occupation 4) précaution
1) I'¢colc 2) la fcrme 3) Ic jardin 4) la mairic

Partie D: Compréhension de Texte
Lisez le texte suivant et répondez aux questions:

Et si une petite sieste vous rendait plus intelligent? Vous n'y croyez pas? Clest pourtant
I'hypothése qu'avance le docteur Matthew Walker. D'aprés une étude qu'il a faite sur
le sujet, il semble qu'une sieste d'environ une heure par jour rendrait plus intelligent et
cela permettrail aussi d'apprendre plus vite. TI donne aussi des exemples de quelques
grands hommes ou femmes de ce monde, comme Margaret Thatcher ou Bill Clinton
qui, pendant Icur carricre politique, faisaient tous lcs jours unc (pctitc) sicste.

Oui mais, comment faire quand on travaille? 1l est vrai qu'en Europe 'faire la sieste
au travail' n'cst pas bicn acccpté. Mais cn Chinc, par cxcmplc, 1l cst tout a fait normal
de se reposer un peu aprés le repas de midi. Au Japon, il y a méme des firmes qui
demandent a leurs ouvriers et a leurs employés de faire une sieste d'une bonne
demi-heure par jour.

Et les éleves? Si eux, ils [aisaient la siesie a I'école? Apprendraient-ils plus vite?
Travailleraient-ils mieux? Seraient-ils plus intelligents? On pourrait toujours essayer.
S1 vous en parliez un peu a vos professeurs ou a votire directeur d'école?...

L'objcctif du texte ci- dessus est -—---—-—-—- .
1) d'informcer lc public 2) dc critiquer Ics Francais
3) de narrer une histoire personnelle 4) de décrire seulement la sieste en France

Le docteur Malthew Walker avance I'hypothése suivante:
1) les loisirs sont nécessaires pendant les vacances

2) lc voyage r¢gulce la circulation sanguinc

3) la musique adoucit les sentiments

4) la sicstc rend plus intclligente

De quelles grandes personnalités parle-t- on dans le texte?

1) Lcs sportifs. 2) Les politicicns.  3) Les chercheurs.  4) Les comedicens.
En Chine et au Japon, faire la sieste au travail est tout a fait --—-—-——-

1) bizarre. 2) possible. 3) anormal. 4) exceptionnel.
Une sieste devrait --------—--- .

1) étre effectuée dans l'aprés-midi 2) se faire pendant le pause-café

3) durcr cnviron unc heurc 4) avoir licu apres le d¢jcuncer
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A. Bbi0epuTe npaBM/IbHbIA BAPHAHT OTBETA:

CeroJust M€ 1yKIIO ewfe -—-------- HOBbIE CJI0OBA.

1) yantncs 2) 3arrMMaTLCs 3) uzy4aror 4) yuuTL
3umoii B Tam0oBe ObIBACT 04eHb =======-=- .

1) xonomnas 2) X0I0dHO 3) XOJIOTHBIN 4) xo100HOC
Buxrop ue 3uaer, --——------- 310 rasera.

1) ups 2) upn 3) yeit 4) upe
Harama nocmorpena pu.ibm, ---------- ¢l 0UCHb NMOHPABUJICS.

1) xoTopomy 2) KoTopas 3) KOTOpBIi 4) KoTopoc
S Moo pyRM —---—--—-,

1) MbLIO 2) ¢ MbUIOM 3) u3 MbuIA 4) MbLIOM
---------- BBIXOJAHBIE THM MbI IPOBOIXJIH 32 TOPOIOM.

1) Bes 2) Bee 3) Becw 4) Bcro

A kaany pydamky ---------- .

1) B yemoarn 2) B ueMoaiie 3) 11a Uemozaiie 4) uemomnar
Tarnana panyerest ------—--—- TOCTCH.

1) npuxomamu 2) npuxony 3) npuxozom 4) npuxomac
Oren e3jinr Ha padory m --—--——- MAJIEHhKOI'0 ChIHA B HCJIN,

1) Bosut 2) Bener 3) BO3UT 4) re3tn
MpbI C3IUIH K TOAPYTC, ==mmmmmmmm 1 3BOHIIA BUCPA.

1) xoTopoit 2) koTopas 3) xoTopoc 4) KOTOpKIC
IMummre ---------- yaine!

1) nac 2) Hamu 3) Mbl 4) nam

SI BCTpeTH BUYEPA HA YIIMIE ==-mmmmmmm .

1) crapas yuuTenprHHAIA 2) cTapyro yUuTeIbHUIY

3) crapoil yunreibHULE 4) co crapoil yuureibHuLen
OHu 10JIT0 TOBOPUIA —————-,

1) 00 >To¥ KHHUTE 2) 3TOM KHUTH 3) 5Ty KHUTY 4) nTa KHUTA
———————— — 3alUMAETCH MIIOI'0 CTYLEITOB.

1) YuranbHbli 3an 2) B untansHOM 3ane

3) B uuTanbHBIN 341 4) YUuTtaIbHOTO 3aja

710 Moii cTO. —---——-- JIeXKAT MOM YYeOHNKHA U CJI0BAPb.

1) Tyna 2) Ottyna 3) Ciona 4) 3neck
OH movoracT Ipy3bsiM, =-—-—-— 3aJa4H.

1) pemennniM 2) pemetiinle 3) peralomum 4) pemtaroniye
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b. /1onoJHUTE TEKCT, UCIO0/b3YsI MOAXOAsIIIIee 0 CMbICLY CJ10BO.

JKu3Hb TIpeHenpusaTHas MITyKa, HO chaenath (92) ----—----— peKpacHol HeTpyaHo. Jlng
TOTO, YTOODLI OoIymaTs B cede (93) ---------- 0e3 mepepriBa, gake B MUIYTLI (94) --------- ,
HY’KHO: YMeTh T0BO:IbCTBOBATHCA (95) -----—--- ¥ pazoBaThCA CO3HAHHIO, HTO «MOTJIO OBI
ObITb N XYXKE». A ITO HETPYUHO:

Korna B TBOIM maners (96) ---------- 3a1103a, panyics: «Xopomo, 9To IIe B Ias3»!
1) ee 2) eit 3) ero 4) emy
1) cuacteio 2) cuactuii 3) cuactbe 4) cuactbem
1) nevann 2) nedansm 3) neyannio 4) neqanu
1) HacTOSAIIUM 2) HacTos MM 3) nacrosuero 4) HacTosuX
1) nouayaews 2) uouagaer 3) nouayaem 4) nouaaere

B. IIpounTaiiTe TEKCT U BHIIOJIHUTE 33IaHUSI MOCJIE HEro:

— Tpuser, Aum! A cibnwai, bt eges Ha dxekypeuto B Cankr-IlerepOypi?

— 3nopacTByd, Aprém! Jla, HemaBHO s ObI B MockBe, a Ha cienylolieil Heaeie
cobuparoch B [IctepOypr. Kakoit 3To ropoa? Kpacupbiii?

— Jla, 310 OucHb KpacuBblii ropon. MHe Hpaeutcs ObBate Tam. B Canukr-lletepOypre
MIPCKpacHbIC COOOpEL, HarmpuMcp, McaakueBckuii, IlctponaBmoBckmii, [ IpcodpaxcHekmil. A
kakue Tam My3en! OOsizarensHO nocetn Pyccknit Mysei n Dpmurax.

— Cuacubo 3a coser.

— A 111 3Hac11b, uTO Cankr-TlerepOypr ocnoran Térp 1?7 U ené nurepecusiii paxr! I1o
10poL Haxouurcs Ha ocrpoBax peku Hesol. U Juogm 3uech oueHb 1OCIEeHpUMMHLIE U
JoOposke:1aTreTbHBIE. HeoObMHBI ropo!

— Kak unrcpccHo! Moxket 6bITh, IOCACM BMCCTC?

— 51 oueHp X04y MoexaTh C TOOOM, HO, K COKATCHHIO, HE MOTY, OUeHb 3aHAT. JKemaro
TCOC XOPOLICH MOC3IKH.

— Cnacu0o. Jo BcTpeuu!

AnM codupaercs NoexaTb ---------- .

1) na ’kcKypcuto B MOCKBY 2) B KoMaHaupoBKy B CaHKT-1lcTcpOypr
3) B KOMaIaupoBKy B MoOCKBY 4) 11a 3kckypcuto B Cankr-IlerepOypr
Cankrt-IleTepOypr ocHoBaN -——--—-—-,

1) Exatepura 1l 2) Iétp 1

3) Anexcanap Hesckni 4) Anexcanap I

IPMUTAK — IO ---------- .

1) cobop 2) ocTpoB 3) my3ei 4) nyouia/ib
APTEM ===mmmmeem .

1) yxe 6pu1 B Canikt-Ilerepbypre

2) mocact B llcTepdypr BmccTe ¢ Ann

3) 11e moburt exath B Cankt-Ilerepoypr

4) Ha CICIYIONICH HCICIC MOcACT B llcTepoypr
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76-

77-

78-

81-

82-

83-

88-

89-

90-

Capitolo A: Indicate la risposta corretta:

Devo togliere ---------- polvere dallo stivale.

1) il 2) la 3)lo 4) le

Mario, mi sento solo, posso venire ----—---—--- te?

1)a 2)di 3)da 4) per

Marco e Luigi sono andati ---------- vedere un nuovo film che oggi danno al cinema.
a 2) al 3) di 4) per

Mia sorella non e’ riuscita a trovare lavoro ---———- — due anni.

1) in 2) di 3) con 4) pcr

Chi cscrcita professionalmente la medicina ¢ -—---—--- .

1) medico 2) dottore 3) insegnante 4) cantante
L'ampio componimento narrativo in cui si tratta delle vicende di uno o piu’ personaggi e’
1) storia 2) novclla 3) romanzo 4) commedia
Clara arriva domani. Voglio ====------ a cena.

1) invitargli 2) invitarla 3) invitarlo 4) invitarmi

E* dubbioso che Mario -------———- una lettera.

1) scriva 2) scrivi 3) scrivo 4) scrivera’

Io ti suggerisco che tu --———--—-—- a casa subito.

1) va 2) vai 3) vada 4) andate
Signora Rossi, spero che Le -—----—-—- questo romanzo.

1) piace 2) piacci 3) piaccio 4) piaccia

Ti chiamiamo ----—---- il telefono non funzioni.

1) quando 2) dopo che 3) fino a quando 4) a meno che
To leggevo un giornale quando Roberta --------— .

1) mi chiama 2) mi chiamo’ 3) mi chiamai 4) mi chiamava
Ci dici cosa ha raccontato Clara? No, non voglio ---------- .

1) dirvclo 2) dirvcla 3) dirgliclo 4) dirglicla
Agli italiani piace -—----——- bere il cappuccino --—---—-il te".

1) piu’-tanto 2) piu’-che 3) tanto-piu’ 4) tanto-che
Avrei studiato se non -————- i libri a scuola.

1) avrel 2) avresti 3) avessi lasciato 4) avesti lasciato
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91-
92-
93-
94-
95-

96-

97-

100-

Capitolo B: Completate il seguente testo con le parole proposte:

Due turisti sono in Ttalia, a Firenze. Sono marito € moglie. Il marito: Cara, sono stanco ¢
ho (91) ---------- Abbiamo girato tutto il giorno. Abbiamo visitato tre chiese e due musei:
abbiamo visto almeno cento (92) ---------- ed un enorme numero di quadri.

Adesso basta: ho bisogno di mangiare, ho bisogno di riposo. La moglie: ma, caro
stiamo a Firenze due gilorni soltanto. Ci sono tante cose che non abbiamo visto
(93) ---------- ¢ non abbiamo molto tcmpo. Io ho portato duc panini ¢ cosi non abbiamo
bisogno di trovare un ristorante. Tl marito: Ma 10 sono stanco ¢ ho fame. Abbiamo
camminato tanto. Ah, qucsti poveri picdi! La moglic: Quci poveri picdl sono stati
(94) - riposo sul letto per otto ore. Se adesso camminano un'ora o due non € un
disastro. E poi ho sentito che oggi c'e’ una festa bella, un gioco di calico (95) ----------
costume.

1) angoscia 2) fama 3) pena 4) fame
1) statuc 2) statci 3) statuci 4) statui
1) ora 2) finora 3) tuttora 4) ancora
I)a 2) in 3)di 4) da

1) di 2) in 3) del 4) su

Capitolo C: Leggete il testo e rispondete alle domande seguenti:

Pietro dice: Da qualche tempo dormo soltanto due o tre ore la note. E un bel guaio per
me, ma non so come rimediare. Non mi piacciono i vari sonniferi perché, anche se
dormo, mi danno un atroce mal di testa. Per me I'unico compenso e quello dei sogni.

Quando uno dorme male sogna molto, almeno cosi capita a me. E spesso questi sogni
sono interessanti ¢ divertenti. Per escmpio stanotte ho fatto un sogno molto curioso. Ero
in campagna; dietro di me c'era un muro molto alto e sopra il muro c'era un soldato. To
sapcvo che dall'altra partc del muro, c'crano molti animali fcroci ¢ affamati, ma sapcvo
anche che io ero fuori di ogni pericolo. Camminavo per la campagna, guardavo gli alberi
e 1 fiori, ero senza pensieri, assolutamente in pace.

Pietro di solito dorme -------—---.

1) molto 2) poco 3) in pace 4) abbastanza bene
I vari sonniferi ==--===---,

1) piacciono a Roberto 2) costano troppo

3) fanno male a Roberto 4) fanno bene a Roberto

Roberto nel suo senno --—-—--—- .

1) dorme 2) cammina 3) si sveglia 4) vede i sogni

Nel suo sogno, Roberto era ———----- —.

1) gentile 2) un povero 3) un mercante 4) ricchissimo

Roberto camminava --—--—--—-—-- .
1) ncll'aria 2) per 1l campo 3) per la campagna  4) sulla strada
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Part A: Grammar
Directions: Questions 101-110 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes
the sentence. Then mark the correct choice on your answer sheet.

101- Unless you make sure that the flowers ---———--——- soon, they will go dead.
1) to walter 2) you water 3) be watered 4) are walered
102- Wait a second! It ——————— long to check the brakes in your car.
1) wasn’t taken 2) won’t take 3) isn’t taken 4) hadn’t taken
103- Fair ---—------- he may agpear to be, he tends to play dirty quite often.
1) while ) though 3) despite 4) howcver
104- The physician believes that the nurses will not resume working -----—--- their salaries
arcn't increased.
1) if 2) so that 3) because 4) whereas
105- Itis common knowledge that the Scottish wear kilts, --------——- ?
1) are they not 2) don’t they 3) are they 4) isn’t it
106- Shelley is one of those poets ----——-—- almost certain to be represented in any anthology of
English verse.
1) arc 2) heis 3) who arc 4) that they arc
107- The test results clearly show that I do ———-—--- anyone else in the whole class.
1) better on essay tests than 2) best on essay tests of
3) as good on essay tests as 4) on essay test better than do
108- He promised to all those present that he will do all the carpentry for the newly built home
1) he himself 2) themselves 3) himself 4) itself
109- Is Richard Thomson, the Alfa boss, ---———--- to fly round thc world in a hot air balloon

have all ended in failure, a better businessman than pilot?
1) that attempted 2) whose attempts  3) by attempting 4) attempts
110- A thousand years later, wealthy people would use the effects of evaporation to cool their

homes. ---------- midnight, they had the exterior walls and interior floors doused with
watcr.
1) Through 2) On 3)In 4) At

Part B: Vocabulary

Directions: Questions 111-125 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes
the sentence. Then mark the correct choice on your answer sheet.

111- The newly established computer company ---------—- two thousand three-hundred-forty
dollars to Homer and Horsens College for computer programs to study the effect of a
spam dict on discontcnted studcents.

)

required 2) devoted 3) boosted 4) exchanged

112- When the slum property has been evacuated, it will be knocked down and -----—-- by
modcrn blocks of apartments.
1) converted 2) enhanced 3) retired 4) replaced

113- They consider the building to be an important part of region’s ---—-—- and have thus set
up a fund to preserve it.
1) destination 2) handicraft 3) inspiration 4) heritage

114- Historically, ----—-- — have been the most common method of organized waste disposal and
remain so in many places around the world.
1) plains 2) landfills 3) disordcers 4) fossil fucls

115- It has never been cleared up how the accident -------—--- came about.

1) widely 2) actually 3) absolutely 4) carelessly
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116- As many as 100 spccics of fish, som¢ -—--------- to these waters, may have been affected by
the pollution.
1) unique 2) familiar 3) hospitablc 4) acccssiblc

117- If a highly --——--—-—-—- scicntist were to tell you that the most glorious comet was going to fly
across the sky, you’d probably believe him or her.
1) enhanced 2) promoted 3) respected 4) magnified

118- He accused the government’s enemices of deliberately ====--=-- to make people dissatisfied.
1) secking 2) warning 3) influencing 4) ecndangering

119- ————- cducation is an optional final stage of formal learning that occurs after complction
of secondary education,
1) Intcrmediate 2) Advanced 3) Skillful 4) Higher

120- “Bird of a --——-—-—- fly together” is a proverb said about people who have similar characters
orhinterests, especially ones of which you disapprove, and who often spend time with each
other.
1) length 2) color 3) nature 4) feather

121- Depending on which major you choose, some classes are ---—--——- , and some are electives.
1) formal 2) essential 3) mandatory 4) instructional

122- Surgery has traditionally been a medical practice that required invasive ------————- to treat
various illnesses and health conditions.
1) diagnoses 2) procedures 3) stratagems 4) remedies

123- Scientist are convinced that the earth’s temperature is rising and place the -——————- on the
buildup of greenhouse gases in the atmosphere.
1) blame 2) destiny 3) catastrophe 4) deficiency

124- The report was relentlessly hostile to the scientist, - one complex event after another
to his discredit.
1) adoring 2) incurring 3) intcrpreting 4) compcensating

125- Because of its strength, adhesiveness, and ----—--—--—-- qualities as a nest-building material,
many species of birds incorporate silk into their nests.
1) widespread 2) imaginary 3) coopcrative 4) invaluablc

Part C: Sentence Structure

Directions: Choose the sentence with the best word order for each of the following series. Then
mark the correct choice on your answer sheet.

126-
1) Identified by their long necks and powerful shoulders, polar bears that make them
excellent swimmers.
2) By their long necks and powerful shoulders polar bears are identified that make them
excellent swimmers.
3) Polar bears are identilied by their long necks and powerlul shoulders that make them
cxcellent swimmers.
4) Their long necks and powerful shoulders identify polar bears that make them excellent
swimmcrs.
127-
1) The malc honeybees generally do not work, but receive food from the workers until it 1s
time for them to mate.
2) The male honeybees generally do not work, but receive food from the workers until
time it is to mate for them.
3) The male honeybees generally do not work, until it is time for them to mate, but receive
food [rom the workers.
4) The malc honcybees gencerally do not work, then when it is time for them to mate, they
receive food from the workers.
128-

1) The steam train and the steamboat made possible by the invention of the steam engine
was revolutionized.

2) The invention of the steam engine revolutionized transportation by making possible
the steam train and the steamboat.

3) By making possible the steam train and the steamboat, transportation the inventing of
the steam engine revolutionized.

4) The steam engine which was invented il revolutionized transportation by making the
steam train and the steamboat possible.
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129-

1) The electron, a negatively charged subatomic particle, was discovered in 1897,

2) The electron, a subatomic particle is negatively charged, was discovered in 1897.

3) The electron, a particle subatomic which 1s charged negatively, was discovered in

1897.

4) The electron, which a negatively charged subatomic particle, was discovered in 1897,
130-

1) The loss of her brother was understandable and given her sorrow.,

2) Her sorrow was understandable given the loss of her brother.

3) ller sorrow was understandable the loss of her brother given.

4) Her brother loss was understandable, given her sorrow.

Part D: Language Functions
Directions: Read the following conversations between two people and choose the answer choice (1),

(2), (3), or (4) that best completes the blank in the conversations. Then mark the correct choice on
your answer sheet.

A: “Can you loan me $1,000 to pay my rent this month?”
B: “No, (131) ——-———--—- R
131- 1) ’m afraid 2) Never mind 3) You bet on it 4) Let’s go with that

A:You’re asking $8,000 for it? OK. It's a nice car, but it’s a two-door car and 1 was hoping
to buy a four-door.

B: A car like this is going to sell quickly. I’d hate for you to (132) ---—-—--- .

A: Pll save you $7,000.

B: Let’s (133) --=-===-== the difference. If you can make it $7,500, you’ve got a deal.
132- 1) pull out 2) take out 3) miss out 4) hang out
133- 1) make 2) leave 3) see 4) split

A: Hi, I bought this camera here yesterday, and it’s not working.

B: Did you charge the battery and put it in correctly?

A: Yes. I followed the directions (134) -——---—-- .

B: Do you mind if I take a crack at it?

A: (135) - .

B: T usually have the magic touch ... Hmmm, you’re right. It doesn't work. Would you like
a replacement?

134- 1) so-so 2) to the letter

3) just in case 4) like a piece of cake
135- 1) It’s no wonder 2) Be my guest

3) Tt looks familiar 4) Tt takes your breath

A: 1 was wondering if you could turn down the music. Loud music in restaurants is a pet
peeve of mine.

B: Sure, (136) -—===---- .
136- 1) I’'ll takc carc of that 2) I can’t stand thc pacc
3) Il be back on my feet 4) it’s off the top of my head

A: The pasta was good, but now I’'m stuffcd!
Bt (137) memmmmeeme.
137- 1) I’'ll Iet you relax for a while before bringing the dessert menu
2) Okay, then let me bring the dessert menu right away
3) Your eyes are bigger than your stomach
4) I’'m sorry you didn’t get enough to cat
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138-
139-

140-

: Primary Medical Group. How may I help you?

: I’d like to make an appointment with Dr. Feinberg.

: Your name?

: Grace Lee.

: What’s the (138) -—------- of your visit?

: 1 think I’ve eome down with the flu.

: We have an opening tomorrow at three.

: (139) -—-—-——-. I’'m rcally sick!

: Well, unfortunately, Dr. Feinberg is booked solid today. If he were free at all, 1 would
squecze you in.

s> E

1) core 2) case 3) nature 4) matler
1) You’rc welcome 2) My hands arc ticd
3) T can’t wait that long 4) Don’t stand on ceremony with me

A: Bad news. Jake and Mary can’t make it to your dinner party tomorrow night.
B: What a shame! (140) -——-—--—-- ?

A: Yes. It turns out they have a dinner at Jake’s boss’s house tomorrow night.

1) Did anything comc up 2) May I help you

3) Are you kidding me 4) How about a change of plans

Part E: Cloze Test

Directions: Questions 141-155 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheel.

141-
142-

143-
144-
145-
146-
147-

148-

149-

The rapid incrcasc in global urbanization constitutcs onc of thc grcatcst issucs
(141) —mmmmemm- thc world in thc coming dccades. It is cstimatcd that the global urban
population will double over the next 30 years. The most (142) ---------- of the world are
to be found in the developing world. Cities in these counties are rapidly transforming
nto mcga citics—massive conurbations (143) ------—--—-—- morc than 20 million pcople.

The rapid (144) --=------- of thesc citics is a reflection of the considecrable cconomic
growth in these newly developing economies. The absence of (145) ---------- such as
roads and water supply in many cities (146) --———--—-- to a lower quality of life for their
citizens. In many cities, it has resulted in (147) --——--—-- large-scale slums and shanty
towns. Furthcrmore, the impact of cver-increasing demand for cnergy, food, goods, and
(148) ---------- by urban populations is causing degradation of the surrounding
environment, (149) ---------- in turn worsens the migration of rural populations.

On the other hand, urbanization can also have a positive (150) -——-—-—--—--- . Countries
with highly urbanized populations tend to have a generally higher standard
(151) -=----——-- and their economies are more stable. Cities can (152) ---------- education,
health care, and other services more efficiently than rural areas (153) -------- their
advantages of scale and proximity. In both developed and developing countries, cities
generate the most wealth and provide extensive opportunities for employment and
investment. However, evidence (154) ---------—- that the prosperity generated by cities does
not automatically reduce poverty; (155) ---------- , in many cities, inequalities between the
rich and the poor have increased.

1) to be facing 2) are facing 3) face 4) facing

1) rapidly urbanizing regions 2) regions urbanizing rapidly

3) urbanized regions rapidly 4) regions rapidly urbanizing

1) in 2)of 3) lor 4) [rom

1) issue 2) danger 3) growth 4) likelihood
1) access 2) progrcssion 3) development 4) infrastructurc
1) Icad 2) lcads 3) to Icad 4) which Icad
1) emerging 2) emerging of

3) the emergence of 4) the emerging

1) arc othcer resourccs 2) there arc other resources

3) othcer resourccs 4) othcr resourccs arc

1) which 2) that it 3) that 4) it
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150-
151-
152-
153-
154-
155-

1) merit 2) impact 3) approach 4) analysis

1) of living 2) to live 3) is living 4) whose living
1) display 2) surround 3) consume 4) deliver

1) because of 2) in spitc of 3) rcgardless of 4) sincc

1) recommends 2) commands 3) expecls 4) suggesls

1) unless 2) although 3) whether 4) on the contrary

Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

156-

157-

158-

159-

PASSAGE 1I:

National Park in India 1s home to two of thc world’s most cndangcred spccies: the tiger
and the single-horned rhino. Photographer Steve Winter and writer Douglas Chadwick
had only been working there a few days when they had a rather frightening close shave
with some rhinos.

They were driving into the park to start filming, when their guide stopped the jeep to
move a turtle from the middle of the road just ahead of them. Winter, Chadwick and
their guard got out to stretch their legs and watch. But when Chadwick turned to look up
the road, he saw something terrible.

About 50 meters away, a rhino was charging at them. Rhinos can sprint at more than
40 kilometers an hour, so therec was no time to Icap back in the car. Instinctively, the
guard [ired a shot into the ground just in [ront of the rhino. The crack of the rifle and the
dirt that the bullet kicked up was enough to distract their attacker and he veered off into
the grass seconds before reaching them.

Shakcen, but rclicved the incident had not been worse, they drove on. As they were
entering the [orest area on a raised section ol road, three young rhinos climbed onto the
road in front of them. The jeep stopped hurriedly, but this time the animals seemed
uninterested and disappeared into the forest. Just then, however, the mother of the three,
who had been keeping an cyc on her young, came crashing through the trees from their
left. No time to shoot this time. The female rhino slammed into the side of the jeep and
started to wrestle it off the road. Indian rhinos don’t use their horns in a fight; instead
they bite and this female’s teeth were gouging deep into the side of the jeep.

It can be inferred from the passage that the tiger and the single-horned rhino —-—---—- .

1) causc thc most danger to thosc visiting the National Park in India

2) are some animal species that might go extinct, il not protected

3) cannot be found anywhere in India except in a confined area

4) compctc with onc anothcr for survival

What did Chadwick look at in fright when he got out of the car to relax a bit?

1) A ferocious animal attacking him and those accompanying him

2) Their guard shooting an animal that had blocked the road

3) A rhino escaping into the grass close to them

4) A turtle lying in front of their jccp

Why has the author referred to the fact that rhinos can sprint at more than 40 kilometers an

hour?

1) To cxpress surprisc at the running speed of such big animals

2) To show that just as animals follow their instincts so humans may act irrationally at times

3) To prove that human intellect can easily outsmart animals no matter how fast and
dangerous they are

4) To explain why the guard fired a shot into the ground just in front of the rhino instead of
getting into the car

Which of the following best describes the three young rhinos’ reaction to the presence of

Steve Winter and Douglas Chadwick and their guide?

1) Curiosity 2) Dclight 3) Indiftcrence 4) Affability



160-

161-

162-

163-

Which of the following is true about the female rhino mentioned in paragraph 3?
1) She was not alraid ol gunshots.

2) She pushed the jeep oft the road.

3) She made an attack to let her young run away.

4) She unexpectedly used her horns in the fight she started.

PASSAGE 2:

Something momentous happened in conservation circles last month in Ecuador. At the
UN Convention on Migratory Species conlerence, a resolution was passed recognizing
that some social mammals have culture. Sure, the idea of non-human culture has been
around for years. But this is the first time that it has been formally recognized by an
intcrnational trcaty. And beyond acknowledging that it isn’t just humans that havc
socially learned traditions, this treaty opens up a new frontier for efforts to conserve
social spccics.

What is non-human culturc? A popular dcfinition is information or a
behavior—shared by population or subpopulation—acquired from others of the same
specics via social lcarning. What this mcans for conscrvation, which often treats a
species as homogeneous, is that culture can create boundaries between social groups,
affecting behavior, gene flow and resource use.

In 1975 sociobiologist E. O. Wilson cxplaincd the influcnce of social structurc on

fitness, gene flow and spatial patterns in some species. Deeper understanding only
startcd to cmerge in the past decade, and wildlifc policy has been slow to catch up.
The new resolution recognizes both positive and negative consequences of non-human
culture. Individuals passing on knowledge may increase population viability by allowing
the rapid spread of innovations amid environmental challenges, which could mean more
resilient social groups. On the other hand, the eflects of human-induced threats may be
amplified by the presence of non-human culture. How so? The type of threat and the
type of society is important.

What does the word “it” in paragraph 1 refer to?

1) trcaty 2) UN Convention

3) culturc 4) idca of non-human culturc

It can be understood from the passage that the belief that some animal species have

culture -------—--—- .

1) 1s more likely to bring more damage than benefit to them

2) was not cntircly ncw before the UN Convention on Migratory Specics confcrence

3) made wildlife policy makers around the world quickly change their wildlife protection
approaches

4) may lcad to an incrcascd level of population viability among animal spccics with a
supposedly strong social culture

Why does the author mention sociobiologist E. O. Wilson in paragraph 3?

1) To lend credence to a point raised in paragraph 2

2) To shed more light on the delinition of non-human culture

3) To discuss the consequences of the acceptance of non-human cultures

4) To explain what is meant by fitness, gene flow and spatial patterns

According to paragraph 4, more resilient social groups directly stem from --------—-—-,
1) environmental challenges 2) increased population viability
3) rapid spread of innovations 4) individuals passing on knowledge

The passage would most probably continue with a discussion of -——-—---—-—-- .

1) how a non-human culture emerges in the course of time

2) the similarities between human societies and those of animal species that are believed to
possess culture

3) some variables having a bearing on the relationship between the presence of
non-human culture and the effects of human-induced threats

4) the reasons why human-induced threats are likely to affect non-human cultures both
positively and ncgatively
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PASSAGE 3:

The [ood industry loves a buzzword. And, increasingly, those buzzwords revolve around
health. Hcalthy cating is big busincss—why do you think cverything is labeled as high
protcin these days? But while protcin content is objcctive, there is no official definition
of a “superfood” and the EU has thankfully banned health claims on packaging, unless
they are supported by scientific evidence.

However, that hasn’t stopped many food brands from funding research to help
promote the health benefils ol their product. For example, i you see a headline
proclaiming the health benefits of bananas, chances arc the rescarch was funded by some
strangc organization likc thc British Banana Council. They’re susceptible to bias,
basically.

The idea that there are ingredients that vastly outperform other foods, and can
somehow stave off cancer, heart disease and other major health concerns is
misleading—il not a complete lie. Sadly, some people want to believe that eating a certain
fruit or vegetable containing an antioxidant or essential fatty acid is a health panacea that
can offset the effects of their Dominoes or their missed spin session.

The problem is that most research on superfoods tests chemicals and extracts in
concentrations not found in the food in its natural state. In short: they’re good for you,
ycs, but to curb cancer you’d have to cat them by the wheclbarrow full.

The main [oods, though, that have been elevated to superfood status in recent years
are those rich in antioxidants. Antioxidants are chemicals thought to protect us against
the harmful cffects of frec radicals, which arc chemicals naturally produccd in cvery
living cell and known to cause cell damage—linked to ageing and disease development.
However, evidence about this and other health benefits of antioxidants is inconclusive.
A revicw of the rescarch into this topic in 2011 by the Europcan Food Safcty Authority
(EFSA) found no cvidence that the antioxidant action on free radicals obscrved i the lab
was of any benefit to human health. Sorry to burst your bubble.

What is the primary purpose of the passage?

1) To promote health products

2) To criticize people’s credulity

3) To correct a misunderstanding

4) To admonish scientists for their carelessness

Which of the following best describes the function of paragraph 2 in relation to

paragraph 1?

1) Paragraph 2 shows that even the EU precautionary regulation is often neutralized in some
way.

2) Paragraph 2 purports to demonstrate that thc EU mcasurc, as described in paragraph 1, 1s
just beginning to bear fruits.

3) Paragraph 2 calls into qucstion the sinccrity of the EU which, according to paragraph 1,
seemingly intends to prevent fraud.

4) Paragraph 2 is intended to show the positive effect of EU monitoring, mentioned in
paragraph 1, on the companies promoting food brands.

The phrase “stave off” in paragraph 3 could best be replaced by ----——--—-- .

1) curc 2) diagnosc 3) dcter 4) trigger

According to paragraph 4, vyou can hope to prevemt cancer when you eat allegedly

beneficial superfoods ----==----,

1) undcr tightly controlled laboratory conditions

2) only after they have been well researched

3) in their natural state only

4) in very great quantities

Which of the following best describes the authors’ attitude towards the positive effect

which antioxidants are said to have?

1) Amusement 2) Astonishment

3) Skepticism 4) Pointcd disagrecment
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Teil A: Grammatik

Er —————--——-nichts von der Tdee, mit der Firma Touri zu verhandeln,

1) hielt 2) haltet 3) hielte 4) haltete
Der Mann hinter der Theke horte sich an, ---------- er eine Erkiiltung hatte.

1) als ob 2) damit 3) sodass 4) obwohl
Alle Flugpassagicre --——-----—- ihr Handgepéck von den Beamten kontrollicren lassen.
1) diirfen 2) wollen 3) konnen 4) miissen
Trotz grofien Interesses hat Thomas an -----—-—--—- Diskussion nicht teilgenommen.
1) dic 2) der 3) den 4) dem
Gebithren sind -—----—- , dic fiir cine in Anspruch genommene Leistung zu zahlen sind.
1) Betrage 2) Betragen 3) Betrige 4) Betriger
Mcin Kollege hat mich --——--—-—- gcheten, ihn ¢in paar Tage zu vertreten.

1) darauf 2) davon 3) darum 4) dartiber
In welchem Tempus steht der Satz ,,Ich habe die notigen Biicher gekauft*“?

1) Futur | 2) Perfckt 3) Préscns 4) Prétcritum
Sie kann Klavier spielen, ---—————- jemals einen Kurs hbesucht zu haben.

1) um 2) statt 3) ohne 4) auller

Der Satz ,,Wenn ich ihn doch gestern getroffen hiitte!* ist eim irrealer --——--—-—- .
1) Wunschsatz 2) Aussagesatz

3) Bedingungssatz 4) Vergleichssatz

Welche der Priipositionen steht nur mit Genitiv?

1) laut 2) unter 3) gegeniiber 4) aulgrund
Gisclas Mutter hat den Kuchen --—-—- — fiinf Stiicke getcilt.

1)in 2) um 3) auf 4) iiber

Er hat ————-—-—- gedroht, nicht linger mit mir zusammenzuarbeiten.

1) ich 2) mir 3) mich 4) mein

Ich freue mich auf ein --—--—---- Dialog mit Thnen iiber unsere Zusammenarbeit.
1) — intcressanter 2) —c intcressante

3) — intcressantcs 4) —cn intcressanten

Bei welchem handelt es sich um den Komparativ des Adjektivs ,,kalt*?

1) am kaltesten 2) kalteste 3) kalter 4) kalter
Finden Sie im Text alle Stellen, in -----—-- ein unregelméfBiges Verb vorkommt!
1) der 2) deren 3) dessen 4) denen

Teil B: Vokabeln

Er hat mich beschuldigt, ihn ---------- zu haben.

1) belohnt 2) gesehen 3) beleidigt 4) enttduscht

Beim Flugunfall hat der automatische --——--—--——- versagt und das Flugzeug ist abgestiirzt,
1) Pilot 2) Fahrer 3) Kapitin 4) Schiffer

Ich wohne auf der obersten ---—----- eines viergeschossigen Hauses.

1) Seite 2) Etage 3) Ebene 4) Stufe

Wenn die Temperatur unter null Grad fillt, --—---—-—-- das Wasser.

1) glianzt 2) fliefit 3) gefriert 4) tropft
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120- Dic alte Frau ist -———--—-- , dass ihre Kinder alle in der Ndhe wohnen.

1) froh 2) besorgt 3) traurig 4) enttduscht
121- Ich bin in =====-==-- , ich muss den Zug nach Wiesbaden erreichen.

1) Eile 2) Haft 3) Sicht 4) Armut
122- Er verlor seinen Job und ist jetzt ---—--—--- abhiingig von seinen Eltern.

1) sozial 2) emotional 3) korperlich 4) finanziell
123- Wie lange hat es gedauert, ihn zu beruhigen? Er war s0 ====-==--- !

1) stolz 2) schwach 3) gliicklich 4) aufgeregt
124- Gloria war sehr -------—-—- auf sich selbst, weil sie niemals Geldsorgen hatte.

1) bose 2) stolz 3) neidisch 4) gespannt
125- Dic Familic ist gliicklich iiber den -----—--—- ihres Sohnes. Er ist ¢cin berithmter Anwalt,

1) Arger 2) Unfall 3) Erfolg 4) Verlust
126- Sind Sie mit Herrn Miiller bekannt? — Nein, ich bin ihm nie ---------- .

1) bose 2) gefolgt 3) begegnet 4) aufgefallen
127- Dieses kleine afrikanische Land ist -----—-—- an Kohle und Eisen. Sie werden importiert.

1) arm 2) reich 3) schuld 4) schlimm
128- Du kannst dich auf ihn verlassen. Er ist ein --=-=----- Mensch.

1) naiver 2) boshafter 3) gesunder 4) aufrichtiger
129- Der neu gewiihlte Prisident ---------- sein Amt zum 1. Oktober 2015 an.

1) ruft 2) tritt 3) greift 4) droht
130- Thre ncue Armbanduhr ist aus rcinem Gold. Si¢ --—----—--- ¢in Haufen Geld!

1) zihlt 2) misst 3) kostet 4) rechnet

Teil C: Wortreihenfolge
Ordnen Sie die Worter zu einem grammatikalisch und inhaltlich korrekten Satz!

131- schnell / arbeitswillig / finden / wer / eine Stelle / sein / heute
1) Wer ist schnell arbeitswillig, findet eme Stelle heute.
2) Wer arbceitswillig ist, findet heute schnell cine Stelle.
3) Wer arbeitswillig ist heute, findet eine Stelle schnell.
4) Wer findet heute schnell eine Stelle, ist arbeitswillig.
132- packen / seine Jacke / der Kragen / an / haben / er / der Polizist
1) Am Kragen seiner Jacke hat thm der Polizist gepackt.
2) Thm hat am Kragen seiner Jacke der Polizist gepackt.
3) Dcr Polizist hat ihn gepackt am Kragen sciner Jacke.
4) Der Polizist hat ihn am Kragen seiner Jacke gepackt.
133- Shiraz / mitbringen / eine Vase / schon / ihre Tante / sie / aus
1) Ihrc Tantc aus Shiraz hatte sic cinc schone Vasc mitgebracht.
2) lhre Tante hatte sie aus Shiraz eine schone Vase mitgebracht.
3) Sie hatte eine schone Vase mitgebracht ihrer Tante aus Shiraz.
4) Sie hatte ihrer Tante eine schéne Vase aus Shiraz mitgebracht.
134- hinter / zuschlagen / sich / die Tiir / er / wiitend
1) Wiitend schlug hinter sich er die Tiir zu.
2) Wiitend er schlug die Tiir hinter sich zu.
3) Wiitend schlug er die Tiir hinter sich zu.
4) Er schlug zu wiitend dic Tiir hinter sich.
135- warum / endlich / begreifen / ich / haben / es / tun / sie / wollen
1) Ich habe endlich begriffen, warum sie es tun wollte.
2) Tch habe sic endlich begriffen, warum ¢s tun wollte.
3) Warum habe ich endlich begriffen, sie wollte es tun?
4) Sie hat begriffen endlich, warum ich es tun wollte.
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Teil C: Liickentext
Erginzen Sie den Text mit den richtigen Auswahlmaoglichkeiten!

Ein junger Arbcitsloscr in Stuttgart bckommt vom Arbeitsamt kein Geld. (136) ------- ?
Den Beamten dort (137) ---------- seine Frisur nicht. ,,In Stuttgart habe nur ich diese
Frisur*, sagt Heinz. Das gefillt (138) ---------- . Das Arbeitsamt in Stuttgart hat aber eine
andere (139) ---------- . Heinz bekommt kein Arbeitslosengeld und keine Stellenangebote.
Ein Angestclltcr im Arbceitsamt hat zu ihm gesagt: ,,Machen Sic sich cine (140) ----------
Frisur. Dann konnen Sie wiederkommen.® Ein anderer Angestellter (141) ---------- :
,,Herr Kuhlmann sabotiert die Stellensuche.” Aber Heinz moéchte arbeiten. Sein fritherer
(142) --==mmmm- , die Firma Kodak, war sehr (143) ---------- mit ihm. Nur die
Arbceitskollcgen haben thm das Leben schwer (144) ---------- , sic haben thn immer (145)
---------- . Deshalb hat er (146) ----------.

Bis jetzt hat er keine neue Stelle gefunden. Die meisten Jobs sind nicht flir
(147) --=------- , das weil} er auch: ,,Verkduler in einer Buchhandlung, das geht nicht.
Dafiir bin ich nicht das (148) ---------- Typ.“ Heinz fiihrt (149) ---—------ das Arbcitsamt
jetzt einen Prozess. Sein Rechtsanwalt sagt: ,,Auch ein arbeitsloser Punk muss Geld vom
Arbeitsamt bekommen.” Heinz Kuhlmann lebt jetzt von ein paar Mark.
(150) ---—------ gibt ihm sein Vater.

1) Wann 2) Womit 3) Wie viel 4) Warum

1) gentigt 2) gefillt 3) hilft 4) gilt

1) ihr 2) er 3) ihm 4) ihnen

1) Wahl 2) Qualitit 3) Herkunft 4) Meinung
1) normale 2) schicke 3) komische 4) perfekte
1) droht 2) mcint 3) fordcrt 4) begriilt

1) Frcund 2) Schiiler 3) Mitarbeiter 4) Arbcitgcber
1) grob 2) offen 3) streng 4) zufrieden
1) gemacht 2) geschafft 3) gehalten 4) gestellt

1) gcweckt 2) gedrgert 3) gestirkt 4) beschiitzt
1) gekiindigt 2) gestohlen 3) gekampft 4) gewonnen
1) er 2) ihn 3) dich 4) ihnen

1) einfache 2) normale 3) richtige 4) schlanke
1) fiir 2) auf 3) gegen 4) cntlang

1) Die 2) Den 3) Dem 4) Der

Teil D: Leseverstehen

Text 1:

Aristotcles war cin Philosoph aus dem Norden von Gricchenland und Iebte 1m 4.
Jahrhundert vor Chr. Wic Sokrates und Platon war cr cin besonders wichtiger Denker
aus dem alten Europa. Sein Vater war ein reicher Arzt und bezahlte seine Ausbildung an
der Philosophenschule Platons. Nach Platons Tod verlie3 Aristoteles Athen. Spiter
wurde Aristoteles Erzicher des Konigssohns von Makedonicen. Dicser Konigssohn war
Alexander der GrofBle. Der Einfluss seines Lehrers ist aber im Verhalten des spéteren
Eroberers nicht erkennbar. Spater griindete Aristoteles seine eigene Schule. Diese nannte
er Lykeion. Sie wurde auch Wanderschule genannt, weil Schiiler und Lehrer oft beim
Herumgehen sprachen. Heute noch ist Lyzcum cin Ausdruck fiir cinc héhere Schule.
Aristoteles galt bis ins Mittelalter als Vorbild fiir viel Gelehrte. Wie Sokrates wurde auch
Aristoteles wegen Blasphemie angeklagt. Er befiirchtete von den Athenern deshalb zum
Tode verurteilt zu werden, genauso wie vorher Sokrates. Um nicht ebenfalls verurteilt zu
werden, floh cr aufs Land. Dcer Mcnsch war fiir ihn cin politischcs Wesen, das ohnc
Gesellschaft nicht leben kann. Fiir Aristoteles war die Frau jedoch ein minderwertiger
Mann. Aristoteles machte sich auch Gedanken dariuber, was der Mensch zum Glick
braucht. Seiner Meinung nach wird der Mensch nur gliicklich, wenn er alle seine
Moglichkeiten entfalten kann.
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Einst floh Aristoteles aus Athen, weil cr Angst hatte, dort wegen --——————- zum Todc
verurteilt zu werden.

1) Mordes 2) Ehebruchs

3) Drogenhandels 4) Gotteslasterung

Was war der Vater von Aristoteles von Beruf?

1) Philosoph 2) Mediziner 3) Politiker 4) Erzieher

Welche Vorstellung hatte Aristoteles von Frauen? Fiir ihn waren die Frauen ---------- .

1) schwach und feige 2) ungeeignet fiir Politik

3) herausragende Kampferinnen 4) unbedeutend und minderwertig

Wie findet der Verfasser den Einfluss der Lehren Aristoteles auf das Verhalten von
Alexandcer dem Grofien?

1) teilweise enorm  2) kaum spiirbar 3) nachhaltig 4) gelahrlich

Welche Titigkeit iibte Aristoteles am Hof des makedonischen Konigs aus? Er war

1) Arzt 2) Erzieher 3) Schreiber 4) Laufbursche
Ist ein Mensch nicht in der Lage, alle seine Fihigkeiten zu entfalten, ist er aus der Sicht
des Aristoteles ein -——-—-—----- Mensch.

1) tiberfliissiger 2) ungeschickter

3) ungliicklicher 4) durchschnittlicher

Welche Feststellung iiber Aristoteles trifft nicht zu? Er --—---—-- .

1) hatte seine eigene Schule 2) lebte vor iiber 2000 Jahren

3) war ein Schiiler von Sokrates 4) kam aus einer reichen Familie
Text 2:

Der Himalaya 1st das hdchste Gebirge der Well. Es liegt in Asien zwischen Indien und
China. Hier gibt es mehrere Berge, die mehr als 8000 Meter hoch sind, darunter auch der
hochste Berg der Erde: Der Mount Everest ist 8848 Meter hoch. Wie die meisten
Hochgebirge 1st auch der Himalaya em Faltengebirge. Er entstand, weil der indische
Subkontinent schon scit langer Zcit mit ungchcurcr Kraft gecgen Asien driickt. Dabei
wird dic Erdkrustc wic cin Tischtuch in Falten gelegt und nach oben gedriickt.
Manchmal kommt es dabei auch zu schweren Erdbeben, wie vor einigen Jahren in
Nepal. Wegen der groflen Hohe ist es im Himalaya sehr kalt, der Boden ist meist felsig
und zu groBen Teilen das ganze Jahr von Eis und Schnee bedeckt. Die Berge wirken
auflerdem wie eine natlirliche Barriere gegen den feuchten Monsunwind vom Indischen
Ozean. Deshalb regnet es im Siiden des Himalaya sehr viel, und es kommt dort oft 7u
Uberschwemmungen. Auf der anderen Seite, im Hochland von Tibet ist es dagegen sehr
trocken. Fiir die Einheimischen waren die Berge des Himalaya lange Zeil heilig und
wurden so gut wie nie betreten. Seit dem 19. Jahrhundert kommen aber immer mehr
Forscher und Abenteurer aus Europa und Nordamerika hierher, um die Gipfel zu
erklettern. Das 1st sehr gefdhrlich, und schon viele sind dabei ums Leben gekommen.

Wihrend auf der einen Seite des Himalaya zu Uberflutungen kommt, ist das Klima auf
der anderen Seite sehr ---=--=--- .

1) feucht 2) trocke 3) regnerisch 4) wechselhaft
Woelches Ercignis ist vor wenigen Jahren in Nepal passicrt?
1) Diirre 2) Erdbeben 3) Kiltewelle 4) Ilochwasser

Warum wollten dic Einhcimischen dic Berge Himalayas nicht betrcten? Weil sic dachten,
die Berge seien =--------- .

1) heilig 2) versperrt 3) gefahrlich 4) unbctahrbar

Wo liegt das Hochland von Tibet? Im ----—--—---- des Himalaya.

1) Osten 2) Siiden 3) Westen 4) Norden
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Welche Feststellung iiber den Himalaya trifft nicht zu? Der Himalaya --——-——-.
1) ist ein Faltengebirge 2) hat einen felsigen Boden

3) ist der hochste Berg der Welt 4) liegt in Asien, im Siiden Tibets
Laut Text brachte das Erklettern der Gipfel vom Himalaya bisher -------—---,

1) viele Opfer 2) manche Vorteile

3) die Forscher um 1hr Geld 4) keine brauchbaren Ergebnisse
Text 3:

Heidelberg ist cine der wenigen deutschen GroBstadte, dic im Zwceiten Weltkrieg nicht
zerstort wurden. Berithmt ist 1lcidelberg fiir cinc Ruine: das Llcidclberger Schloss. Es
wurde durch Kricg und Blitzschlag zerstdort und von scinen Bewohnern aufgegeben.
Doch im 18. Jahrhundert wurde es als romantische Ruine bewundert. Deshalb war die
Frage, ob cs wicderhergestellt werden solle, auch heftig umstritten. Dic Gegend um
Heidelberg war schon seit Hunderttausenden von Jahren besiedelt. Dies beweist ein
Unterkieferknochen des so genannten Heidelbergmenschen, einem Vorfahren des
Neandertalers. Im Altertum siedelien Kelten im Gebiet des heutigen Heidelbergs. Spater
besetzten es die Romer. Schriftlich erwihnt wurde Heidelberg aber erst im Jahr 1196. Im
Spétmittclalter war Llcidclberg dic Residenz cines Kurfiirsten. Kurflirsten warcn dic
siecben Herrscher, die den Kaiser wihlten. Die Universitit Heidelberg wurde 1386
gegrindcet und ist damit dic dltcstc Universitdt in Dcutschland. Studenten hattcn vom
Mittelalter bis in die Neuzeit einen Sonderstatus. Bei Straftaten wurden sie deshalb nicht
der Polizei libergeben, sondern im Studentenkarzer, einem Gefingnis flir Studenten,
eingesperrt. Im Lauf der Zeit empfanden manche Studenten das als witzig und taten
alles, um dort auch einmal eingeschlossen zu werden. Sie amiisierten sich dort und
bekritzelten die Winde mit Graffitis, die man heute noch bestaunen kann.

Welcher Begriff ist gleichbedeutend mit ,,Karzer® im ,,Studentenkarzer«?

1) Arrestraum 2) Speiseraum

3) Waschraum 4) Umkleideraum

Wofiir ist laut Text die Stadt Heidelberg berithmt? Fir ---------- .

1) ihre altc Universitat 2) das Heidelberger Schloss

3) die Toleranz ihrer Bewohner 4) ihre Lebensmittelspezialititen

Wann tauchte zum crsten Mal der Name Heidelberg in schriftlichen Texten auf?

1) In der Antike 2) Im Jahre 1386

3) Im Spitmittelalter 4) Im 12. Jahrhundert

Wer hatte laut Text das Recht den Kaiser zu wihlen? Ein --—-——- .

1) Graf 2) Ritter 3) Herzog 4) Kurfiirst
Welches Volk bewohnte das Gebiet des heutigen Heidelbergs im Altertum? Die -—--——-.
1) Kelten 2) Finnen 3) Slawen 4) Germanen

Dic Universitat Heidclberg ist die alteste Universitit =—---=---- ;

1) Europas 2) der Welt 3) Osterrcichs 4) in Dcutschland
Was versteht man unter dem Begriff ,,Graffiti¢?

1) Das schwarze Brett 2) Die bunten Farbstifte

3) Spriiche an den Mauem 4) Eine Art scharfes Messer
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Partie A: Structure
Complétez les phrases suivantes en cochant la réponse correcte:

101- ————-- caf¢ ou nous allons chaque matin cst trés connu.

1) Le 2) Un 3) DU 4) De
102- Vous ---—-—— quelle robe? La rouge ou la bleue?

1) choisit 2) choisissicz 3) choisisscz 4) avez choisi
103- Notre ---—--——-- assemblée aura lieu dans 'amphithéatre.

1) prochain 2) prochains 3) prochaines 4) prochaine
104- Nous avons --------—— travaillé pour aujourd'hui. Faisons une pause!

1) autant 2) assez 3) tant 4) tres
105- Enfin! Vous étes 12! Nous pensions que vous ---------- perdus.

1) étiez 2) serez 3) avez été 4) aviez été
106- Pour les vacances, ---------— hiver nous avons loué un chalet a la montagne.

1) ce 2) cet 3) cette 4) ces
107- Lec dictionnaire ---—----—-—-- j'ai besoin pour traduire n'est pas disponible a la bibliothcque.

1) ou 2) qui 3) que 4) dont
108- Si j'avais plus d'argent, j'-——-——-- unc voiturc plus confortable.

1) achcte 2) achctais 3) achcterai 4) achctcrais
109- La musicienne que tu as ---—--- jouer est celéebre dans son pays.

1) entendu 2) entendus 3) entendue 4) entendues
110- Il est nécessaire que nous ---------- notre environnement plus sérieusement.

1) protégeons 2) protégions

3) protégerons 4) aurions protcge
111- Ily a une télévision dans ---------- chambre de cet hotel.

1) aucun 2) chaque 3) quelques 4) plusieurs
112- J'ai un ami qui joue trés bien -————- guitare classique.

1) par 2)ala 3)dela 4) sur la
113- J'aimerais que le gouvernement --------——- plus d'action en faveur de I'agriculture bio.

1) entreprend 2) entreprendra

3) entreprennc 4) cntrcprendrait
114- Elle aime beaucoup les jupes longues; elle ---------- a acheté une noire.

nHr 2)y 3) les 4) en
115- La premiére fois que j'ai pris le métro a Paris, je --————.

1) me suis perdu 2) a1 perdu

3) mc perds 4) suis perdu
116- Lc professcur dit qu'il --——------- l¢s résultats dans unc semainc.

1) affiche 2) a affiché 3) afficherait 4) affichera
117- --——--—--— vous étes pressé, partez sans moi.

1) Commec 2) Puis quc 3) Parcc quc 4) A causc quc
118- J'ai trés mal aux dents; j'irai chez le dentiste ---—--—-—-—-—- demain.

1) dés 2) dans 3) depuis 4) pendant
119- ---———--— la vitesse soit limitée sur les routes, il y a encore beaucoup d'accidents.

1) Bien que 2) Méme si 3) Quoi que 4) Malgré
120- Lecs fruits frais sont ====------ quec les fruits en conscrve.

1) meilleurs 2) les mieux 3) les meilleurs 4) les meilleures
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127-
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Partie B: Vocabulaire
Complétez les phrases suivantes en cochant la réponse correcte:

Zidanc ----——- lc Recal de Madrid pour la prochainc saison.

1) trouvera 2) connaitra 3) reconnaitra 4) retrouvera

Le métier d' -—--—---—--- consiste a acquérir, restaurer et vendre des objets d'art anciens.

1) artistc 2) historicn 3) antiquairc 4) arch¢ologuc
Lorsqu'on arrange un appartement pour habiter, on ====---=-- .

1) ménage 2) aménage 3) déménage 4) emménage

La petite a ouvert la porte aux voleurs car leur voix lui était bien --------—-,

1) famille 2) familiale 3) familiere 4) familiarité

Qui est a la fois le pére de ma mere et le pere de ma tante?

1) mon pére 2) mon oncle

3) mon parrain 4) mon grand-pere

Dans une grande école, compte tenu du nombre important de ---------- il est difficile de
réussir au concours.

1) participants 2) candidats 3) étudiants 4) coureurs

----—--— portc cn général un blcu de travail.

1) Lc me¢decin 2) Lc bouchcr

3) L'agriculteur 4) Le boulanger

Les médecins touchent des ---------- en échange de leurs services.

1) soldes 2) salaires 3) honoraires 4) appointements

11 a fait faillitc; il a tout perdu, il a méme mis unc hypoth¢que sur sa maison. Je veux dire

qu'il a des ~————--.

1) dettes 2) préts 3) épargnes 4) emprunts

Le sport qui se pratique dans l'eau est --—---—--—- .

1) Ic canoc 2) I'cscrime 3) l'alpinisme 4) I'¢quitation

La personne qui interpréte une cuvre musicale est ---—---—--—- 5

1) un acteur 2) une diva 3) un cadreur 4) un figurant

Le quotidien "Le Figaro" a un ---—-—-—- de 500000 exemplaires.

1) rubriquc 2) critiquc 3) colonnc 4) tiragc

---————— est un moyen de transport urbain.

1) L'avion 2) Le tramn 3) L'autocar 4) L'autobus

11 doit faire équilibrer ses menus par un ---------- c'est un médecin qui lui a recommandé.
1) dentiste 2) diététicien 3) généraliste 4) psychologue
Paques est symbolisé par ---------- .

1) un cceur 2) un sapin décoré

3) un bouquct dc muguct 4) unc clochc cn chocolat

On ne distingue plus rien, il y a beaucoup de --—------ ; la route est mauvaise.

1) averse 2) verglas 3) brouillard 4) arc en ciel
Comme sa petite fille avait un front haut, sa meére la coiffait avec ---—----- sur le front.
1) une frange 2) une natte 3) une boucle 4) une meche

On trouve qu'clle ======nu-- trop scs enfants: clle est unc vraic mere-poule.

1) singe 2) couve 3) niche 4) fouine

Quand vous avez des dettes ---——-—--,

1) vous retircz de l'argent 2) on vous doit de I'argent

3) vous gagnez de l'argent 4) vous devez de l'argent a quelqu'un
Ne me racontez pas d'histoire, je sais que vous mentez; ¢a se voit comme ==-------- au milieu

de la figure.
1) I'ceil 2) le nez 3) la bouche 4) le front
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Partie C: mise en ordre des mots
Placez les éléments suivants dans un ordre correct:

141- Ne-leur-les-préte-pas

1) Préte les leur ne pas! 2) Ne pas les leur préte!
3) Ne les leur préte pas! 4) Ne préte pas les leur!
142- Bien-travail-importe-faire-son-il-de
1) Tl importe de bien faire son travail. 2) Bien importe de faire il son travail.
3) Dc bicn fairc son travail il importc. 4) 1l importe dc fairc son bicn travail.

143- En-avance-la-sont-nos-arrivés-amis-a-féte
1) Nos amis sont arrivés a la (éle en avance.
2) A la féte nos amis sont arrivés en avance.
3) Nos amis cn avance sont arrives a la fcte.
4) En avance a la féte sont arrivés nos amis.
144- Tante-vicillesse-morte-ma-cst-de
1) Ma tante de vieillesse est morte. 2) De vieillesse est morte ma tante.
3) Ma tante est morte de vieillesse. 4) De ma tante vieillesse est morte.
145- Travail-neige-rendons-pas-a-ne-cause-nous-de-la-au
1) Nous n¢ rendons pas a cause de la neige au travail.
2) Au travail nous nc rendons pas a causc dc la ncige.
3) Au travail a cause de la neige nous ne rendons pas.
4) A cause de la neige nous ne rendons pas au travail.

Partie D: Conversations
Lisez les conversations et répondez aux questions:

146- M. ¢t Mmc¢ Dumont ont la pcine de vous informer du déccs de Mme Martin agée de
Quatre-vingt-deux ans.

1l s'agit d"---——--—-—- .
1) un mariage 2) un enterrement
3) un anniversaire 4) unc f¢licitation du Nouvel An
147- Que dites-vous quand l'interlocuteur ne se présente pas dans une conversation téléphonique.
1) Qui parle? 2) Qui est-ce?
3) Qui étes-vous? 4) C'est de la part de qui?

148- La grand-meére: Encore un peu de gatean?
Marie: Non mereci.
La grand-mére: Mais si, prends-cn encore un peu!
Maric: Non, jc t'assurc.
La grand-mere: Mais c'est tres léger!
Maric: Oui mais...
La grand-meére: Je t'en redonne quand méme un peu.
Marie: Oh mais, je n'ai vraiment plus faim.
Marie -—--—--— de reprendre du giteau.
1) refuse 2) exige 3) interdit 4) recommande
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151-
152-
153-
154-
155-
156-
157-
158-
159-
160-

-Bonjour! Salut Sandrine.

-Salut! Tu vas bicn.

-Ouais, ¢a va.

Le dialogue ci-dessus est une maniére -------—--- de saluer.

1) impoli 2) informelle

3) hiérarchique 4) professionnelle
Est-ce que je peux essayer des chaussures a talons?

-Bicn siir, vous n'étes pas trés grande, il faut porter des chaussures a talons pour mettre en
valeur les vétements habillés.

-Oui....je n'ai pas I'habitude.

-Essaycz ce modcle. Vous chaussez du 37. Tenez; essayez aussi ces escarpins... Magnifique!
Vous devriez porter des chaussures a talons avec une robe.

La vendeuse --—---—-- de porter des chaussures a talons.

1) exige 2) réclame 3) conseille 4) recommande

Partie E: texte a compléter
Complétez le texte suivant a I'aide des réponses proposées:

Enfin la lettre de Marseille arriva. Remplie de (151) -—--m-m—-- heureuses. Sans doute lui
Cpargnait-on lcs mauvaiscs. Remplic aussi de bons (152) ---------- on cngagcait Z¢naide
a se montrer obgissante, bien élevée et hygiénique. A bien travailler a I'école et on saluait
la famille auvergnate (153) ---------- I'avait regue. Elle promettail a une date non précisée
(154) —mmmmmmm- d'Emilienne. Les nouvelles du monde arrivaient mal au Caryol, sans
journal  (155)  --=---m--- radio. On en prenait quelque chose par
(156) -=----m—-- quand 1l apportait les lettres. On savait que les Américains (157) --------
d¢barquée (158) -------—--- Afriquc ct qu'ils feraicnt bicntdt de méme cn France pour (159)
---------- 1'Occupant. Certains de ceux -ci (160) ---------- dans les bois.

1) nouvelles 2) informations 3) enseignements  4) histoires

1) ordres 2) conscils 3) réclamations 4) rccommandations

1) ou 2) que 3) qui 4) dont

1) une visite 2) un rendez-vous  3) une rencontre 4) une réunion

1) nmi 2) pas 3) non 4) sans

1) l'infirmier 2) le médecin 3) l'employé 4) le facteur

1) ont 2) auront 3) avaient 4) auraient

1)a )T 3)cn 4) d'

1) sortir 2) licencier 3) renvoyer 4) chasser

1) vivaicnt 2) sc logcaient 3) habitaicnt 4) demcuraicnt
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Partie F: Compréhension de texte
Lisez les textes suivants et répondez aux questions:

Texte 1:

Rarement a la maison, les JCU (jeunes célibataires urbains) font la cuisine. Tls
grignotent ou se réchauflent de bons petits plats surgelés que les industriels ont pris soin
de leur concocter. Les JCU ne sont pas la catégorie de la population la plus nombreuse,
mais ils constituent un marché a [orl potentiel, au mode de consommation tres
spécifique. Selon Joelle Bavais ,de I'Institut francais de démoscopie, "ce sont des gens
qui gcrent leur budget sans becaucoup de rigucur”. Les JCU consomment au coup dc
coeur. Normal, 1ls veulent plaire et se plaire. "Chez eux, poursuit Joelle Bavais, certains
postes budgctaires sont largement plus importants que la moycnnce: Ics restaurants, lcs
accessoires, la presse,les weekends, les vacances." Ce qui est sympathique chez les JCU,
c'est qu'ils sacrifient volontiers le nécessaire au super(lu.

Ils sont sous-équip€s en €lectroménager,lave- linge,aspirateur et presse- purée: ils
préferent acheter un magnétoscope ou une caméra vidéo.

Le texte ci- dessus -———-———- la vie des JCU
1) narre 2) décrit 3) critique 4) prend partie &
Les jeunes célibataires urbains --------—- .

1) ne mangent jamais chez eux.

2) font une cuisine a la francaise

3) font unc cuisine conventionnelle

4) ne font pas de la cuisine traditionnelle

Les jeunes célibataires urbains constituent ------—-- -

1) un marché a fort potentiel

2) une couche marginale de la société

3) une classe productive de la société

4) unc classc qui gerent s¢ricuscment son budget

Les JCU consacrent leur revenue ----—--—-—- .

1) a la santé 2) au loisir

3) a acheter un logement 4) 4 'achat d'¢lectroménager
Les JCU sont des consommateurs --------—- .

1) logiqucs 2) normaux 3) spccifiques 4) particulicrs
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Texte 2:

Combicn dc personncs sont Ics victimes de la cigarcttes? Plus que cc quc l'on pourrait
penser. On estime chaque année les déceés a 450000 en Europe, 52000 en France et
350000 aux Etats-Unis. Au total, ccla représente 2 a 3 millions de victimes du tabac dans
le monde. Pour un fumeur sur quatre, la perte moyenne d'espérance de vie est de vingt
ans et se solde par un mort avant 65 ans, selon une étude de L'Observatoire de santé de
1'lle de -France.

Par ailleurs, en France, le tabagisme connail une phase d'augmentation pour la
premiere fois depuis 1990 et touche particulierement les femmes. Ce phénomene se
verific malgre la haussc des prix du tabac ¢t 28% dc Francgais fument cncorc.

Ces données mviteraient donc a faire des efforts supplémentaires contre le tabagisme,
actif ou passif. A cct cffet, la France a ¢t¢ l'un des premicrs pays a conduire dcs actions
remarquables contre le tabac. De nos jours, elle poursuit activement la prévention contre le
tabagisme, en mettant en ceuvre les moyens nécessaires pour que la consommation de tabac
diminue. Les cibles prioritaires sont les jeunes afin de retarder leur initiation a la cigarette
qui reste altiranie pour eux. Les campagnes anti-tabac sont deslinés aux jeunes appartenant
en particulier aux milieux socio-économiques les moins favorisés. Il peut s'agir de
campagnes chocs ou informatives. Une mesure complémentaire vise a développer des
contréles pour appliquer l'interdiction de vente de tabac aux moins de 18 ans.

Le texte ci-dessus a comme objectif --—----- le public.

1) de décrire 2) d'informer 3) de critiquer 4) d'encourager
I.e nombre des fumeurs est estimé a environ --—------ dans le monde

1) 350000 2) 450000 3) 52000 4) 2 a 3 millions
On assiste 2 une augmentation du nombre des ---—-—-—--— malgreé la hausse du prix de tabac.
1) femmes 2) jeunes 3) bourgeois 4) adolescents
Selon une étude en L'lle de -France le tabagisme est la cause ---——- avant 65 ans.
1) du cancer 2) des accidents

3) de la mort 4) des avortements

La campagne de 1'anti-tabac vise ---———--—-—- pour diminuer le nombre des fumeurs.

1) les artistes 2) les enfants

3) les femmes 4) les jeunes de milieux défavorisés
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